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A Gentile and a Kuti who were Toiraim, etc.

Overview

The R na cited a 71wn which states that if a *321 or a M3 separated 77170, it is a valid
770 and it is forbidden to be eaten by non-2°372. The issue at hand is whether the
produce of a *M21 is 721702 2m.
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>'"w9 explained, the reason there is a 72170 NwA97 210, 1s because the Xin of this

7Iwn maintains that a %921 has no acquisition in 58> X to a degree that he should be
able to remove its 7Y17P regarding MAWYN MMIN —

mooin offers an alternate interpretation:
= N9 NNOYN 1237 W MINRT INND 1D2ANRT PNHNY 129290 NN

And it appears to the >''1 that we can find such a case of n"17n 21’11 even according

to the one who maintains that a °721 has a 3°IP in >"X to remove its 7w17p regarding n"7n;

that is in a case
= 402915 72 131910 NIPY HRIY? 2 3Dy NHTIVS

When the produce grew a third of its entire growth by a »8"2» and the 121 bought
it from him afterwards —

Mmoo responds to an anticipated difficulty:
= ©52915 T2¥ 792 NN NIV 117D N2 XIP TP HNXIANT SNPIY DYV TV KD

And it does not become now exempt from »"17n by the 721 on account that it was
purchased, because we ‘read’ (call) this produce as being w7 nR12n (produce of
your seed), since it grew a lot by the 21—

moon offers an alternate scenario:

U yonw 77,
2 Therefore even if the produce grew entirely by the 731, nevertheless since it grew in *"X it is 2"1702 217,
3 Produce which grew a w*»w and was then harvested is »n™n2 2%, Therefore, once it grew a w7w by a YX > there
is a n"n D9 2.
4 It grew the remaining two-thirds by the *72a.
5> The X3 in 2,m2 n"a derives from the P09 (in 23,7° [AX1] 2°127) which states T¥=T NX12N %3 DX WY WY, to include
only produce that you grew, but not produce which you bought. Therefore it would seem that since the *121 bought the
produce from a 9% it should be exempt from »"1n, nevertheless MooIn concludes that in this case it is 7¥1 NXI2AN.
6 See ‘Thinking it over’.
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Or you may also say that it is discussing a case where the 921 planted it, and he
sold it to a P>, and it grew a W by the X7, and the "1 then bought it
back from the xw-.

Another suggestion:
— (92930 HNNN M7 3,80 97) $1IIIT RIP P99 9102 O 1)229 UI9T T

And additionally, for the n'' explained in the end of the first 22 of N353 ndon -
- PR 4aMIY NP NPYT XN NPIY 109 NI4T

That a buyer is not exempt from »"17n in a case where he bought it before m=,
so we can be discussing a case where the >721 bought the produce from a %W (so it is 2°1n
n"17n2) before M (so there is no issue of MpY) —

A final alternative:
$052999 721¥D 1239 W 1D2ANR) NN 13 DHN 2N INIYIN NTYW 1199113 9103 N

Or you may also say; that the >751 rented a field from a X%, in which case
whatever grows there is 217 in 72770, even if we maintain 2'"12p% P1p @,

Summary
There is a 211 for »™1n for the produce of a *121 if we maintain >"X2 2™2¥% PIp PR

"91. There can be a 21 even if we maintain "1 pIp v if it grew a W by a PR
(either initially or later). Produce which was purchased ma" amp or through a 77°0n
is 21 even if it is by a "21.

Thinking it over
nIooIN writes that even if 121 2™2vY7 1°1p w°, nevertheless if it was XW° 702 WHw 7973

and the rest by the *121 it is »"™n2 217 and it is not considered mMP? since it grew

7 One may argue that since it says T¥% nX12n, it must be planted by you (in order not to be considered mp?), however in
the case MooIn suggested previously it was planted by the P& w» and the »131 purchased it so it may be considered mp5.
8 In this case the >33 planted it so it cannot be considered mp>. The difficulty with this scenario is that it seems a bit
unusual to sell it and then buy it back. Or perhaps since it grew from the planting of a *321 it cannot be n"17n2 27 1nn
even though later it grew a w>w by a 2xw".
% See mwn noma that this means he bought the field (?) and the produce before M.
10 After the grain is winnowed, etc., it is gathered into a pile and smoothed out neatly. This process is called m=n. The
2rn for n"an AN nwAon is only after the M7 process, for only then is it referred to as 7137 (as it written (in 027
7,70 [2°woW]) that 12 10N "N 137 NOWRA, So it requires M1 to be considered Ta37).
' 9517 is a rental where (in this case) the ™21 (the renter) obligates himself to give the landlord (the X 2”) a certain
amount of produce which will grow on this land.
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(so much) by the *721 it can be called v nx12n.!'2 However this seems to be self-
contradictory, for if it is called 7v21 NX12n of the *733, so it is not 117N 27 since
91 2"avo PIp w23

12 See footnote # 6.
13 See 7m0 *w1on XK # 66.

3

TosfosInEnglish.com



